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PAPER - I

ECONOMY AND DEVELOPMENT

According to Rangarajan Committee 2014, the

poverty line is defined as per capita expenditure

of :

{1} ¥ 52 forrurzland ¥ 67 for urban areas

{2) 3 42 torrural and ¥ 57 for urban areas

i3] ¥ 32forruraland T 47 for urban arzas

{4} ¥ 22{orrural and T 37 for urban areas
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The people with Tower incomes when compared
with higher incomes, even when their standard
of living is above subsistence level, are said to be
in .

{1) Absolute poverty {2} Relative poverty
{3} Rural poverty (4} Mass poverty
E0u6 A8 Lowobod Lue &5 PHrec 500

Frawd Dol GDPR w&E sorabre e
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“{1) :‘Jéﬁﬁ DERg £2) 3°_£J§'a}c‘.5éo

(3} ln%wc"-i,ics'c {4 &g Labso

Which of the following programmes are covered
under the 'Nationat Food Security Act, 2013° 7

a.  Mid-day Meal Schems

b. Integraled Child Developrent Scheme

c. Public Distribution Sysfem

¢, Buffer Siock Management

: v 2013

4.

Consider the following statemenis relating te
Mahatma Gandhi Natienal Rural E
Guaraniee Act

mplayment

a. 100 day- uf mandatary employiment should he
provided to rural iob seskers.

b. Equal wage rates should be pard to male and
femaie winwkers. .

¢. One third of the beneficiaries shoufd be women.

d. Employment should be provided only to the
people below the poverty line,

Which of the above statements are correct as

per the MGNREG Act ?
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{1} .a,_b&c {2} b,c&d

(3} ¢, d&a ~14} d,a&b

1O 3 recession,
are iost. This situation is ratled

Whaen o rountry of many job

(1) Frictional unemployment

Cyclicat unemployment
Seasonal unemployment
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Poverty line in rurai India is defined as the mid-
point of monthly per capita expenditure class
having a daily calorie intake of :

{1} 2,400 czlorie per person
{2} 2,300 calorie per person
{2} 2,200 calorie per persen
{4} 2,100 calorie per person
(e rd8E% rby Sww Jdghowre o8
R0 S0 Hgab LKL Wegy Bodyor

I e [ Fodod’ af B uf He88 A

srgede IPE B0 BIS0 vHHos ?
(17 2.8 ©g88 2,400 svgeden
/(2) 2.8 $g38 2,300 s"goém
{3) =% %g88 2,200 seguden
(4) 2% 5588 2,100 s*geben

if a person is willing and searching for work but
due to wunavailability of waork remained
uremnioyed during the major part of the
previous year, he is called unemployed as per:

{1) Weekly status {2}
{3} Usual status {4) Standard status

D0 Babardd agdd, LISVo  (Labc ERN)
Lohdybos® ©hE srwo we."r‘n* aod 98

Jénodred ?

(1} ardhdad P8 Ho JWE'gh
(2) Gerard 8 o 3&5"’55
(3) orde B do SN

Daily status

14} @*‘éc"cé.‘g Ao ”{Sﬁ

A person whose marginai productivity is zero or
when more people are engaged in a job than
actually required is called :

{1) Disguised unemployment

{2} Frictignal unemployment

{3) Ope

{4} Seza:aneﬂ unemployment

n unemgployment

adrod aendss ¥ mg_orﬁ*' God
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12.

13,

T (3) DoipgSighE (4)

When workers have jobs, but they are not
working to their full capacity or skill level, it is
called as (one of the following) :
{1} Under-employment
(2) Open unemployment
{3) Seasonal unemployment
(4) Classical unemployment
FOHUE LD FEHSHB S0 370 8 Tivgges
ofoudabdt 8387 addrAolwdd.  20d
FES® abod 289 Dot ?

5
(1) oY sé'fgﬁé
{2} 2d&r808 3&&‘5&5
(3) G Vowod I hS
(4) Doreadd LEHEghes
A situation where in all the available labourers,
who are willing and capable, find work at the
current wage rate is calied {from among the
following) :
{1) Selfemployment (2) Reemployment
(3) Fullemployment (4] Nonemployment
wdresd® &) B8 8o SHE WD Bapred SP0ES® e
33 ﬁ%)g*sw &%) Peed ord wisTTrw wiigo
s¥Ra) (800 58E°) Jwotrd ?
(1) Wgabo-a84  (2) LRSS
w&iend

Among the following, which state has the largest
percentage of poor in India ?

(i) Andhra Pradesh {2) Gujarat

(3) Madhya Pradesh (4} Odissa

208 a8S° J w88 oo B #edo Hisein /
e DA s ?

(1) wogmds (2) Hmood
(3) el (4) 2.8
Consider the following pairs :

Pian Period
3. Second Five Year Plan - 1956-1961
b. Third Five Year Plan - 1961-1966
c¢. Fourth Five Year Plan - 1966-1971
d. Fsrst Five Year Plan - 1951-1956

Nhach of the pairs given above are correctly matched ?
EC8 aded Alodos

L:’.;mo.% 50
Cols DodsSud (e ¥ 1856-1961
4] ?;;}J“ [T b.'O'lsr.\)dl meeé - ‘stl';ébb
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17.

Consider the following pairs :
Five Year Plan Major Objective
a. First Five Year Plan — Agricultural sector
b. Second Five Year Plan - Industrial sector
c. Eleventh Five Year Plan —Inclusive growth
d. Third Five Year Plan —Growth with stability
Which of the pairs given above are correctly
matched ?
208 m=dciy falodod.
BoSdd (LerSd e efeo
2. SES DoIDY (e DE - DgdIab Soro
b. Sodd DowRg (L PE ~ arOFDE oo
c. S5 odn a’Joéé§ [PerPE - :J:})g@é 08
d. redd ?.’Joébg (e 9F - "gdésoé‘ A0
Daded® IO & 2T (LD avi) e ?
A1) a,b&c (2) b,c&d
(3) ¢,d&a (4) d,a&b
The Fifth Five Year Pian proposed to achieve the

A4

main objectives of :

(1) Growth and stability

(2} Growth with social justice and equality

(3} Inclusive growth and improving standard of
living :

Removal of poverty and attainment of self-
reliance
PEH  DoTDY
G3ares DD 7
(1)
(2]
(3)

(4)

% POoBGeTD Qe

p8g0, 1)
Ivhresd Jﬂgoﬁsoé" Ledh é.gcg, Devrhdsc
VDL DYB, 2D [Ldrmre WoY

4 =S
DEBE L e, {gabo t'd‘émgtg e
One of the following five year plans aimed at
achieving human development as the thrust or
fundamental of all developmental efforts
(1) V Five Year Plan (2} VI Five Year Plan
{3} VIl Five Year Plan  (4) VIl Five Year Plan
o) 0L (hdbened wrbd wlL)ed
oo rlol 2ol adiSt D L O% ardd
wé:.‘ag@ el ool Jawood ?
(1) SR0old Lee ¥ (2) 6% DosdE (L
{3} 8D DoldY e 0¥
Among the followirg, in which plan period, the
highest growil rai= of above 8 percant per
SNNUM O @0 2veEras s was achieved 7
Seven

TRLolHd pxr v 4)

{1 e Yol vlan (2) Eighth Five Year Plan

{2} Tenil Five (4) Eleventh Five Year Plan
ol mmaid o TG
oo e R N me T
[ B L
fqn = s -~ \
113 Tella Le od 12

18.

19.

20.

21.
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Who was the ex-officio chairperson of the
Planning Commission ?

(1) Finance Minister . {2} Prime Minister

(3) Speaker of Lok Sabha (4) RBI Governor

e st Jolrdd 28y - el SE0ES
(@c_ﬂgg‘gu] Tl ?

(1) So sdsoid  (2) Lok lo@

(3) C°BLeS 86 (4)  Oeothg wrgo ity b

What is ‘NITI" in NITI Aayog ?

(1) National Information Technology Institution
(2} National Institution for Transforming India
(3) National Institute of Technology, India

(4) . National Innovation Technology of India
OB sadl wi ot B8 (NITI) woi S ?
(1) v ab@é&&g By _aS?gwg“&rS_

(2) SudS QRPN D6 (&rSyardy0h 2odakr
(3) 3&4}66'@.5:3&)?5&5' ©9 smyed, qodatr

(4) e aS)S0S Bsmyod 6 aodade

In India, t_he target and actual rates of growth
during 11" Five Year Plan (2007-2012) were -
W8S H0S° LB ogh DoWHY (e dst sreo
(2007-12) &° sRoDS (eBgorm VEv)) Wwhah
SR IHUWL HYE 3:}3) D0 ?

(1) 5% & 5.5% (2) 7% & 9%
(3) 9% & 5% (4) 9% & 7.5%¢
Ameong the following, which economist

first advocated a rolling plan for developing
countries ?

{1) Amartya Sen 12} Gunnar Myrdal
(3) P.C. Mahalanohis {4) P.R. Brahmananda
408 w?a*?&;&ﬁ&éwﬂ" et OBND Sy Sre

B0 Budome oo e DED weLdudh 7

(1} eddehie (2} thayb g
3) 2 wlreSLO (4) 2uob @ikl

Which of the fellowing five year plans was
approved.when the country was going through a
severs ecanomic crisis caused by budget deficit,

intlation, recession, debt burden etc. 7
(1) Foust & (2} Sixth Plan
{ {4} Ninth Pla

Series-AB
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24,

A planning in which targets are set for a period
of 15 to 20 or 25 vyears and which ensures
continuity in planning is called as :

{1) Centralised planning
{2} Democratic planning
{3) Authoritation planning
{4} Perspective planning
20 o
Silale PRIy c.s"gtm.: Sdo.:,oé)éaw, L:.Jm@éo
£°52°80%) (continuity) Goddey T D PED
Jhoerd ?

(1) So|B%)& L @¥

15 iwoo 25 Duséyore ste LaDEST

(2) ﬁmﬂa"sbé x93
.{3} b%)8 (e 93 £4] :.‘SQCS@Q (e DX

Economic  planning  was  an essential
characteristic of one of the following economies :
(1) Closed economy (2) Mixed economy

(3) Socialist economy (4) Capitalist economy
808 8t 0¥ D 8¥Pn oémom D ¥

E)J Goﬁaéauo&'ﬁ ?
(1) 2O (§'EG) BE Dgdy

)
(2} DEx 085 :‘og;’orb

(J

JEI: ;Eug vlal uaé wgtbra

{4} uJ%JJEJwG"’é @Qé 2‘::5&2;?

According to 1/70 Act, which of the following is

true with regard to Telangana Government ?

(1) Urbar land of over 5 acres as surptus

{2} Rural agricultural land excess of 50 acres in
dry region as surplus

(31 Land transfer from tribals to non-tribais as

null and void

(4) Unassigned land given to SCs cannot be
transierred

26.

2

28.

7.

Which of the-following districts in Telangana region is
the poorest in 2013-14 (SRE) in terms of per capita
income at 2011-12 prices as per 'Socio-Economic
Outlook 2016' (Government of Telangana) ?

(1) Medak . {2) Mahabubnagar

{3} Adilabad {4)  Warangal

gouies Dl oUE Lo 2016 (deonte
[

Ei.*gi:éso} fsmde 201112 Ehedt 00 eorabo

R

sordone 2013-18 (Lo s ol e..}e. BT

@rodod® 8ob T o wiE Sy I8 7

(1) SE (2) sirerdRE
(3) sderard (4) &Sdoifd

Jurala Irrigation Scheme Stage-l was meant for
scarcity area in which taluks of Telangana ?

(1) Gadwal, Alampur & Wanaparthy

(2) Wanaparthy, Sircilla & Gadwal

(3) Alampur, Sangareddy, Wanaparthy

(4) Medak, Gadwal & Alampur

808 FESTS O Beomrnm ercostedt IO
et éq)s»aa erore e o {gﬁm )&
ﬁa‘?om& ?

{1) f‘ic‘}e) B oYro, L.

/{2] é;bdg, fJBNE’, i IG-OSD

(3) weoyrl. Lonti&, Lot

(4] 5, da .5"’ weolrd

Which of the following is NOT part of Sik Point

formula, according to a statement issued by the

leaders of Andhra Pradesh in 19737

{1) Development of backward areas

(2) Ppreference to local candidates in
educational institutions

(3) Preference to local candidates iy
secretariate appointments

(4) uC”F lopment of irvigation

1973 & @uLé i orabihes

{oErad woohol) ok & SR e WGt 57 7
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30.

31.

32.

33.

203

In Telangaria, the Krishna river basin passes
through the following districts :

(1) Mahabubnagar, Nalgonda & Hyderabad

{2) Khammam, Adilabad & Nalgonda

{3} Karimnagar, Nalgonda & Hyderabad

(4) Warangal, Mahabubnagar & Hyderabad
deomrnc” 800 8" 3 2yre hoar A BO
LoFrE (oo IFes T

(1} Swrewrdnd, v 0, wedoeerd

(2) zpénéo, u&oﬁaﬁ&,bg\?"od

(3) £00%ib, vL70k, wéorerh

(4) Do, warewd H6, Irdoreard

Which one of the following districts in Telangana
state has the highest cropping intensity ?

(1) Mahabubnagar (2) Nalgonda

{3) Nizamabad (4) Karlmnagar

808 &8¢ Bromad® 2 2w’ boby
JFois wdshZone ¢od ?

(1) Todrevedonb (2) dgrod

{3) i\Jw é}bd“& (4] 550&(‘5

In India over the last few decades

a. The Birth Rate is increasing

b. The Death Rate is increasing

¢.  The Birth Rate is decreasing

d. The Death Rate is decreasing

Which of the following statements is/are correct ?

{1} aandb {2) bandc
{3} candd {4) aandd
888 50S° (& B S’

3. @b S LML,
b, o Hew Ddibdics.
C. whbhden Ehdob.
d. Wm0t Ehdok.
S Bob TEC D8/08 Seo

M) awbabb f?.} bo8ac
© (3} cbaivd (4} a@bdvd

The percentage share of tube wells as a source of
irrigation in Telangana region has increased from
zeroin 1956-57to0 _ % in 2011-12.

oo, Sedost \-“:-'-- 28 Shedt FuY
eraye @t 1856-57 < rige see 2011412 <*
G @A Ot rem 8 LHALE ?
{1V 43 fz; a0 3 33 {4) 26

¢ of tanks as 3 source of

:!r‘gcmoi‘ i
Socio-Loon
Teiangana;

ghemoTeen T

2014-15 as per
iGovernment of

35. -

36.

37.

38.

39.

The total budget expeﬁd}ture of Telangana state
for the year 2015-16 (B.E) is :

2015-16 :bo;‘aéac*é’&é 2e.0T 0*!‘@3 [&Jaﬁaéso &5
do a,uCF Dgobo So¢ ¢ uoED GOoUI® {a_@a‘:'
woﬁavu) S:’woé 7

(1) ¥ 1,10,689 crores/S*  (2) T 1,05,689 crores/S%

(3) % 1,25,686 crores/S*ex (4} T 1,15,089 crores/S'¢

The Vashishta Bhargava Committee was
appointed in 1569 to examine the budgetary
surpluses utilization for Telangana development
during zhe period between :

1969 &° JohoBadn HIY wrES S J srefy

8vormrn oBD)8 £5% acjaé u(‘bw GOAT T
08RO D0 ?

(1) 1-11-1955to031-3-1969

{2) 1-11-1956 to 31-3-1968

(3} 1-11-1954 to 31-3-1969

(4) 1-11-1956to 31-3-1969

Which of the following is not the main aspect of
land reforms in India ?

(1) Abolition of intermediaries

{2) Tenancy reforms

(3) Ceiling on land hotdings

{4) Development of irrigation

er8SFF0C'Y rloly Smed Dowosod 8od

T8 B Parhdid wodo 59 ?
1), wdghde Evholy (2) §"eoeeb oWy Smeo
(3} ‘;iﬂé‘é»a'@&a HEoh (4) bt wé:)‘éagﬁg

According to the AP {Telangana Area) Tenancy &
Agricultural Lands Act, 1950, all rights of a
protected tenant are :

(1} heritable {2} not heritable

(3) subjecttoreview (4} reserved
soBhah (dronem (rodo) Fwnd, hehdrad

efrave Boo, 1950 Lsrdo GEm Podh e d

ooy eEpes JLOE DO 7
e =

(1L zﬂ%}&e-‘g o Sodl
LB mre 300 pe, <y Toesy
(2) S@berg ardae Jody

a ot e b . ’ v
'::)} u:‘)iinC‘dLi.,_.J Jdtwm..
&

{4) 62..::.5 Sobadho
in G.O. Ms. Revenue Department, dt ¢
07-10-1969, ihe Covernment of AP had
originally prehibited assignment of government
land to non-tribals in '

o, 971,

scheduled areac
ity areas




40.

41.

42,

The two categories of tenants that existed in
Telangana region as per the Land Committee
Report 2006 of A.P. were :

i1} Oral & protected tenants

{2} inamdari & protected tenants

{31 Share croppers and ordinary tenants

| oh dluarv & protected tenants

sodpdl ogand Louobod rEd 38K,

“

2006 @560 Buorrn (rodod® J Gol Este
Teomrd oS ?

(1) DK, 838 Toord

{2} asocrd, 838 Sreoar

ct®y erfofdre DI 300D
“w:s"d.u, Igrdm Fwod

{4} o 8, 838 Teward

Q
9}.

1]

Unregistered plain paper documents of leases
taken by non-tribals from tribals is referred as :
{11 Sada Bainamas (2} Stamp Paper
sale Deed {4) Sada Binami

fbzine woil AbadShw Ba3ps 5°2 8y WHdY
Lo Derei DT 578D Jdotrd ?
i1 3ror wosaTEres 42} o0 VO
(3) wipdddo (8) e Daray

feudal title bestowed upon a person' who
roceived as pift the lands for extra-ordinary
service o the kingdom is referred to as :
‘1 Zamindar (2}
{ Fea:ddi lord (4}
s orzpo/onsbEo/B0 Wod
S (8ol a3l

inamdar

Patwari
SO e Wan s I

Foour ot b

ST £ 10 (\.'._ mc\g

EEMRTCTa LTSy (21 azroo®
R i = \ v £
B0 ETRGE STy fd; Léred
B v = )

W,
:

44,

45,

46.

47.

As per the recommendation ef the Koneru Ranga
Rao Land Committee, 2006, the maximum land
which may be allotted to single individual shall
be limited to :

{1) 1 acre of wet land & 2 acres of dry land

(2) 2 acres of wetland & 2 acres of dry land

{3) 2 acres of wet fand & 3 acres of dry land

{4) 4 acres of wetland & 6 acres of dry land
5°3% Somrorgy 2ird D, 2006 J368 s So
a3 éSﬁé e apoShe b eég@ﬁ g Jod
DS DODED & oD ?

(1) 2.8 J8%o &8, 2 J¥ore Ky, abral

(2) 2 J¥ore £, 2 80w Bl b

(3) 2 Moo $6, 3 Jore Hiy oD

(4) 4 JZore 80, 6 HEocw By, e;_ia“.;',.\.:,_1

As per the Hyderabad Tenancy & Agricultural
Land Act, 1950, the maximum rent of a tenant in
Telangana on dry land of chalka soil was fixed at :
(1) 2 times the land revenue

(2) 3 times the land revenue
{3) 4 times the land revenue

{(4) S times the land revenue

“wtiorard b, agadnad e o, 1950°
;\.as%o ey, S K &l 28 dvanmS’ Feormd
TOOTE Y0 wEghE 6 Jod Tawoirt ? ‘
(1) Proecrabi8 Sododes—
{2) Zhreuradls ordoden

(3) ghruoalrls doded
{4} frecrodrls sbodes
AP, (Telangana Area) Abolition of lagirs
Regulation Act came into existence in
_%uff:Li.:..é ldoonire  (orodo) arhitse 6;53)
FRoagsde Seo Iy ol s BINed 7
(1} 1458 Fasali/&d

(3} 1358 Fasali/we  (4)

{2}~ 1158 Fasali/Hd
1258 Fasa!i,f;.’_;(ff

The Tribal Areas Regulation Act Fasati 1356 was
enacted in 1940 by the Hyderabad State
antrusiing all tribal land disputes to:

Piv Tribal committess {3}




48. As per the Tenancy Act in Telangéna region, a
person who cultivated the {and continuously for
six years before 1948 is called as :

(1) Share cropper (2) Oraltenant
(3! Protected tenant {4} Ordinary tenant
Feoard Ugo [Dstdo Buvonre rodos® 1948
08 fwodh D&V wh Doddyorw Hraud
b L HgED ddoerd ?
(1) oD BEodard
(2) ETHE Feed
(3) &% T obS Seomrdh,
(4) Fordem Teoad
Answer 3 questions from 49 to 51 on the basis
of the data given in the following table :
Table : Operational Land Holdings {in %) in
Telangana Districts
District | Marginal{Small] Semi- |Medium|Large
Medium :
Adilabad 498 2771 175 46 | 04
Nizamabad 67.5 |23.8| 7.3 13 | 01
Medak 67.9 21.7 7.8 2.3 0.3
Warangal 67.1 214 2.7 2.5 0.3
LSt aDye dgroto wardon 49 Mol 51 HED
fo 3 B aamandoog.
L8 B Buorn e Pribere Jborw
(erud?)
Ser -t SR ;’.uég "aé
arS) %“w S Q‘w .?‘cw
esBemerS | 498 12771 175 | 46 | 04
Serdbrarli | 875 1238 73 13 |01
2E 672 {217, 72 | 23 |03
IRt 7. taiadowr 25 103
j '. : E
S S SR
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49,

50.

51.

52.

A2)

Which of the following statements is torrect as
per the data given in the above table ?
Share of medium holdings is the lowest in
the holding structure
2} Share of large holdings is the lowest
Share of marginal holdings is the lowest
(4) Share of the semi-medium holdings is the lowest
§ 8vorm Sored”  drfbere  Jborw
(rered’) w08 adedo wbNol. & dgrodo
(©5780 808 Dndree St 3B LGNS’ Bulod.
(1) prsere Zo<® &g Fo Sheo
oy @égogom &o8.
WS Jray Eere arer caégc.gor_rﬂ Gof.

IR
RS ey aver
wdgoNorT God.
a8 Fu® (semi-medium) Serw e
@égogom Gob.
Which of the districts has the highest share of medium
holdings and lowest share of marginal holdings as per
the data provided in the above table ?
(1) warangal (2} Medak
(3) Nizamabad {4} Adilabad
VYES* adyo derodc ws*8o Q RSt Dy
%Pcm rderw wégﬁ;é oreruh S0A somyow ?

{marginal)

3)

(4)

| word] i@y Sherw odgey oo 500

Pomyor ?
(1) Doid (2) SE
(3) Qdecdrard A4) wbwreard

From the above table, witich district has the lowest
semi-medium, medium and large farm hoidings ?

{1) Adilabad (2} Medak

(3} Nizamabad {4}  Warangal

DSt alyw derodo eedo D Bt o
0, Wy oo, wggran Hrsaren odguy

i 268 & aomen |

1) eéurerd (2) sk
(3) {4y Licid

Which of the following reasons causing suicides
of farmers in Telangana are correct ?

a. failure,of borewells

b fluctustions of yieids in cotton crop

c. Risein'cost of production

d. Rise of rice as 2 major food crop
S1 5 o :

Lo e ey,

Derhrur s -

LoTed

“arige-A3



53.

54,

55.

iy

Which of the following non-tood crops that have
grown faster in the past two decades in Tefangana ?

&, Turmeric b, -Cofton

- ai Cane d.  Maize

Mo e [ = o o5 -
St 'a"" o BrLGE SO éu&

88 Lobes eidonyalacdont

5o
d SRR

b&d (3) a&p (4) c&d

Telangana state ranks . among the

states in India that witnessed farmers suicides in
the year 2014, as per National Crime Records
Bureatt.

(1) First {2} Seccnd
13} Third {4) Fourth
er8ad J6 b wwrgd® Psedo 2014 &

30 G340 G*cﬁ“%& xgg}i'a“r.xﬁud s

Lomehow) BooiTe 0%H0 o Qﬂ@t% FHowed ?
‘:’1} 0513(:)-5’ o T J,-?.] BUC‘:":IE) Q“éo
L ho (4) el Mo
i5) e el

Which of the following districts has the highest
a0 L'.D\r'.".'"E‘d under micro irrigation in Telangana
: 1 2003-04 to 2012-14 7

1) Nizamabad 12} Mahabubnagar

(3 Nalgenda {4} Medak

2003 04 fsod 2013-14 W0% Boorrea @rodee®d

gt T
A

;i-"" 1!'

aene Lrd Doen 08E aveo
L o, o = o

<° :3.’]’“ u’brf‘f:ﬁ;w@ O&

{2 a5 E

{{_1} ottt

frricated ares 1o net irdgated

58.

59.

60.

The ratio of gross cropped area ta net cropped
areais referred to as :

{1) Agriculture intensity (2} irrigation ratio

{3) Cropping intensity H‘- Crop ratio
TP e LR ooy 88
T @ el

TQEeRE Wy e B w?;.\.‘odﬂ“dl 7 (Lobes
ER X wd T

Suh e

5 &:ﬁ)m&l, Lotes JuUb DES LLEes
[0 e e
A DTG Let T
(1) Gghdad oBE (2 2o Hghdeh T8
(3) Lobe Jrodd {4) Dobe mga

Which of the following districts has the largest
farest area in Telangana State as per 'Socio-

Fcanomic OQutlook 2016' (Government of
Telangana) in 2015-16 ¥
(1) Adilabad {2}  Khammam

(3} Mahabubnagar (4) Karimnagar
Do el - u&é -fJ[éo 2016 (Scorree
Lu@iuuso} peedo 2015-16 &
SEED D B S S0 i)

55 Seorre c*mjoc;. 20H
{é”o & "‘"iﬁo &b ?

(1) wburerd i2) wano
(3} Zodreordbid (4) Zb60bitd

Bi cotton seed is widely adopted by farmers in
Telangana and elsewhere ‘because farmers
believe that :

(1} Itincreases the biodiversity.

(2) 1t improves the sail fertility.

{3} ltiswverycheap.

{4) ttreduces the cost of production_

Booneedter, @8l roered Son LehIeih-
ey _;df LB Dol Lo wrard.
JobgoH @t L5t &8 D8 Ldares -

Fednodo u’cl‘“c-.o

g . - e =



62.

63.

64.

65.

Which of the following districts contributes the
lowest percentage of service sector to the GSDP
of Telangana region in 2013-2014 at current
prices (FRE) ?

(1) Naigonda (2} Khammam

(3) (4) Adilabad

L8 8t 2013-14 &° Beorrn (@rodod’

Nizamabad

TR wro (@odard)Bst Lo doily e

wdguyom 308 T8t ) 2 od ? .

(1) ®gro& (2)  a%yo0—
(3) Jemwrerd (4} esBerrd

In which of the following districts of Telangana
state, . National Investment & Manufacturing
Zone (NIMZ) as approved by Govt. of India is set
up ?

(1) Mahabubnagar (2) Rangareddy

(3) Nalgonda (4} Medak

808 F8S' Q Buomn 2’ ‘wr8ad wivad,
Sobrd (rdagrggyBoh) £°R7 (NIMZ) & 288
{Leddgo doryen dod ?

(1) dbrewrSond (2) Sormdd
(3) %gTol (4) 2§

Which of the following districts has the highest
number of biogas plants installed in Telangana
region in 2013-14 ?

(1) (2)
(3) (4)
2013-14 &° Beorre [Podos® wdgn¥ Doygs*t

Adilabad
Nizamabad

Karimnagar

Khammam

e.)o?,a"mgﬁ gomrored (Fode) Q‘bo{)}'a 2o
(808 &85*) 28 ?
(1) #6osKE

{3) wapo

slorerd

e

(2)
(4)

Which of the foliowing districts in Telangana
state has the highest number of industries ?

{1) Hyderabad {2)  Rangareddy

{3) Medak {4} Naigonda
8vorrs ogped™t 802 D 2t wdeod
O Al

(1) ol 2] Sorrsd

(3) &8 4] S0l

oy

p

66.

67.

68.

)

69.

Two-third coal mines in Singareni Collieries in
2014 were operated by

(1) Open cast mining (2) Underground mining
{3) Deep shaft mining (4) Tracking process
2014 &° o118 7% HG* furdod Bodk Hoke

TP s Jor Désbvo‘éjag“o» ?

(1) =2ardoif (open cast) e 'Léérséo _

(2) woécrﬂgﬁ (underground) ffwe (EgSo-~
(3) &'@% Lory Hve (S5g80

(4) (er30h [H8ad

~ ‘The Annual Survey of Industries’, the principal

source of statistics in India and in the states as
well, related to :

(1) Organised manufacturing

(2) Unorganised manufacturing

(3) Informal manufacturing

(4} Organised industrial sector

888708, TPy Vowofod  (Herhad
Heros e aErdId ‘5708 0 :’oﬁs’ 808
FES” B8 VowoHo S VErTr o) wapod ?

(1) BgbbEys$ Sotrb Sotfo

(2) eég&fgﬁ‘)é Sa906 Joio

(3) Yo 570 Satrd SoKo

(4) godE)S oY Sotio —

T-Hub is setup in Telangana state in Gachibowli,
Hyderabad at :

{1} Indian Scheol of Business

{2) Madhapur

(3) Hitex City

(4) WIT Campus .
PEorerEE' $0)IOST ) (Frodos® Buonrm
(D20 & - i Domyen s ?

(1)

{2)

2060HS ) & ©d D0
araird
w88y 24

(4) ©.0.0.8 5°g0bd

Which of the following is not part of industrial
Corridor's Development Phase-l in Telangana state ?
(1) Hyder_'aliéd Malgonda Industrial Corridor
(2) Hyderabad - ‘Warangal Industrial Corridor
(3) Hyderabad Nagpur Industrial Corridor
(4} Hyderabad Bengaluru Industrial Corridor
dvomre ool FOHERE =bad SRR

3 fLL 55 = o, £ y 3
S 2 Bol o8 D 50Gth e o 5% °

Series-AB
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70.  The largest category of consumers that consume
highest share of electrical power in Telangana state is:
(1) Agriculture
izl industry

/ THT & LT Commercial

Teh LiatoRw:

SN NIV !

(1] wemdrdbo

A2 Ma,‘f*n

(41 #wor Sofio

71, Which of the following districts has the highest
National highways roads length in kilometres in
Telangana region in 2013-14 ?

{1} Mahabubnagar {2) Nalgonda
{31 Warangal (4) Adiiabad
2013-14 & 8 Ay (8.0.) Sy deormes

iu)._) Coaomon
(1) Ledreandhne 2] w0l
{1 Louldd (4] w&ererd
s
720 i oterms of Gross Value Added {GVA) from

indusiries, the Telangana region is ropked in
fndin as per the ASIresults for 2011-12 a5
i (s du “bL D

-;‘u‘.";;‘. c.-)x.—(‘_ L

Added?

g el

e ¥ A Mg P
0 WPUEN SN0 <02

; 1 l,:- ‘_‘] 7..-

s ~iate industrial Project Approval and
fation System
Sl 200 s/ designed 1o provi

within

soue of ndustrial licenses

i iof app*irqtion

75.

76.

77.

Consider the following statements :

a. Mariy ferro-alloy metals are available in India -
in abundance

b. Except manganese and chromate, no other
ferro-alioy metals are available in abundance
in India-

¢. Copper is a high corrosion resistant metal

d. No ferro-alioys are available in abundance in India.

which of the above statements are correct ;

806 argger Kuono S0é

AT WE- wordd <t e
QBT e BJrow.

b. &rodl, ' 80y add W& - vooad

Sten grs&dhoc® Joane oW,

ooh 638 HrBolBabl Stdro.

a.  r3sd%oct

c.
d.  2r83dec® YE' - verad STHes LBOUSY).
B a'*gqagbé* A DTHD ?

(1) a&bonlyfarEd (2) c&d only/&r &

(3) b&conly/ar@d (4) a&donly/arEd

Which of the following are important aspects of
human development ?

a. large families, social status

b. Equity, empowerment

¢.. Migration, entertainment

d. Productivity, sustainability

P LT @i‘:ﬁ):,&“ Dowobow 808 ardd
Lt:w?nw wozres wo 7

a. ‘.x:S Lnoeres, J s? &

b, e, 3"@9-@&

A ot
e et U e L-

g ;,c.’;-é(—., (BROE
(1) 2 conlyfm@dd (27 a&d only/So g

agr only,/‘ém"k_éﬁa
sssential

(3) b&d onI‘gf‘.‘i;a*Le‘é& (4)

Which of the fellowing measures are
for reducing regional disparities 7
5. Providing subsidies to cveryone in o the

backward areas
b. Building infrastructure in backward areas
Providing subsidies tc large industrial houses
d. Ensuring

subsistence to ail o

o

atleast = minimum  level  of
poor. peoole i backward

ot i n T
S0l &vae

203




79.

80.

Tt
Lo |
b

The better way of achieving ‘inclusive growth’
must include some of the following dspects :

a. Taking up short-term measures only
wherever required

b. - Alround gender equality

¢. Alround development of SCs, $Ts and other

_ weaker sections
d. Development of social infrastructure
08 Eb:}ﬁ.q FHoSend o 8St D
0T D 3&35‘3“@) g
3. RSO 8D WenseOE Jdgud
Tt .
b. &on ?’J‘énvzbéso
c. 0N, D08 wbah xdéd Iwswdd SiXde
udgé%n$°@§§g§
d. rir2E eddNoedond
F BE
(1) b&conly/om@d (2) c&donly/armSS
(3) ab&conlyfomsd (4), bc&d only /&S

in terms of urban peopulation, which of the
following states have occupied the top three
positions 7 '
a.  Maharashtra b.  Uttar Pradesh
¢. AndhraPradesh  d.

Diesy wavyr D Dowofod) SoB oraraed® Judes

Tamil Nadu

L ::5"&)’(.’..':\1) rGELD OD 7

A, wwdhoTyy b. a&ddpds

c.  wolgidh d. SDFE
{1} abid 2} ac&d

13} b’ (4l ab8&c

which of the following states exhibited low
performance in’ female literacy rates in 2011,
according to Planning Commission ?

Maharashtra
Uttarakhand

a. Bihar ol

Rajasthan g

81.

82.

83,

84.

According to 2011 Census, growth in population

in the mega cities has '

(1} slowed down {2} pickedup

{3} remained unchanged {4} boomed

2011 WHT Psdo drided® ey B8 ]
=

Zeone :&9"633 Soloed ?

{1} &hot {2} dhod -

(3} Deddm sob {4) Loden @éﬁé‘}g 2=0Rol

India is regarded as a country with ‘demographic
dividend’ because of its high proportion of

{1} Population in the age group below 15 years
{2} Popuiation in the age group of 15-64 years
(3} Popuiation in the age group above 65 years

{4) Female population in total population

SRy TwTer Dowodd aszc&k’ Zdom

O . ottt 7

{1}/ 15 IS Jabilyy do woe odd o
G oo,

(2) 1564 Dy fdy Hablsy do
o’ Guddc.

(3} &5
e’ 6 obdo.

marer whE
O edh habilny Ao amotwr ofid

= & . 3
(4) Swdo warard” O ¥ ardod

& OG0

G

In India, 50% of the migration that takes place in:
1) inter-state migration

(2] Inter-district migration

{3} !nter-city migration

{4} inter- re;‘;}ona% migration

rohs

S0 H0 3% Lo m{m JJ' o &7 2l !

1]I UUE_,U [ :q‘\ c\.)u..erl...«.-'
T

Census data from 1901 1o 1951 show that
{11 There pas been g steady rise in femaie-male
rat

{2 There have been fluctuatiens in female

137 Ther: aaschesn a2 sieady dechine i the

LoEol e



35.

86.

fsi}

i

As time progresses, the demand for water from
non-irrigation  sectors like domestic sector,
energy sector, industrial sector

{1, islikely to decrease substantially
(2} islikely to increase substantially
2} s likely to increase marginally

{4) islikely tc decrease marginally

swo AGON E'Q Hydr Sodo, I Guifo,
3208 Sorio D08 WBgES Sorre ol S8
G o) Lo &od ?

(1) orer &1 edsedo do8s.

(2Y wrer 288 wbs*Ho ¢ob.

(3) =% S 2008 wdsrio ¢ob.

(4) =8 Srpom &0 wbs~Ho dob.

Data shows'that in 1951 the people living in_

urban areas in India roughly was :
1)
(2)
(3)
(4)
1951 &° ar88dios? Dges Lijvos”oc, Jkthod
Pzee J wdrSodt G S ?

(1) 03 2wihdd ‘ébg_éﬂ.)ot‘?’s 24

(2) L8 Beothdh DgHed® 8%

ot LS

(4) (08 c&ibdh bHed® et

One out of every three persons
One out of every four persons
One out of every five persons

One out of every six persons

{(2) (03 odbhhdh RIS

According to the approach paper to the Twelfih
Plan, the towns that are backward and have nat
been able to participate in inciusive growth are
so, mainly because of :

{1)

{2}

{

lack of population
lack of infrastructure facifity

lack of motivation

LI.J

i
4} iack of people in the working age

S e s S350 ViZe Lo Bkfud

88.

89,

Q0.

The recent audit report of the_Comptroller and
Auditor General (CAG) of India has pointed out
various irregularities (as per LAAR). Which of the
following are correct ?
a. Allotment of land
b.  Utilisation of land
¢ Resettlement of
acq_uisition of land
d.. Compensation as well as rehahilitation of
the affected people
2 E8m S&r I8 Dowofod i gods9eb &
eG08 208 (CAG) acthe «a& 2384SF 208
oS 2638 Lowohod e oS5 UD DAL ?
a.  ZhrSiravodyes
b. 2rITaPHo
c.  BrUEEm by (PO (Due VBTDod

affected  peaple  after

d. @Ja::rv&)é Lcﬁao }’o;;.):'.:a{:‘éq, Ynorarlo
(1) a&bonly/args (2) ab&ec only/&r| &
(3) a,c&d onlyf’mvtééfn {(4) a, b c& d(_

Consider the folrowmg pairs :

& A Major Objective
Plan
a. Xl i. Development of Large Scale
Industries
b, Vili ii. Poverty eradication
c. V iii. Inclusive growth
d iv. Human Resource Development

Match the above correctly :
208 méud fhoodod

éoﬁé&_‘_{ .
s edsu
Leg
a. Xl i 2l Vo D80S
. ‘J(
b. Vil i hdegn G
c. v . 1'-1“.;—*5,)&' 2':\6:
d. v, a..:wﬁé Bmad.w_.tg Q
}_Jé BELD &S0 0o a:éuo‘,uoa

a-iii, b-iv, ¢, d-i
a-i, b-ii, o-iv, d-iif

{2

{1
{ e'ai

) a-i, b-ii, ¢, d-iv
)z w b-ti, c-iif, d-i
An inSIItUtTOP?' arrangement between 3 firm and
farmer to produce and transac
commodities is known as :

1} Commercial &

{3} Small farming

agriculturat

Jf"*]lnc | L




91.

92.

93.

94,

203

in terms of land area, India's rank in the world is :
e Do Sy (Lhosos® rusdE F¥oo
Jod ? ' ' )
(1) fourth/4% (2)
(3} sixth/6% (4)

fifth/5 &
seventh/7 &

Acquisition and requisition of property falls in
the :

{1} Central List (2} State List

(3} Concurrent List {4) Private List

wlre DESm, o rogs erav) 0F LESH 8od
>8S* D erDer 8088 HJray ?

(1) Sogerder~  (2)

(3) g erder (4) 938 wrder

01‘93 = Hae

The main rationale behind laws like land

acquisition is that :

{1) Government is supreme and can take any
decision that it feels important.

Community good is paramount to the right
of an individual.

5

{3) An individual does not have a right to
property.

{4} An individual has a right to property but the
government can solely decide to acquire it.

8B Vo Bgre (DEVH VirdE 7o A ?

{1} Li}e:‘i)é‘sc ng'_q c—s@fbégo Lot S‘mg @‘&'bbo‘:)l
G J S0 Agardyoe 6@&"5&0

12} %g§ %08 mgz)ef BaFrasres DTN,

(3) &&éﬂ:uﬁ) @) ZJvézzr & odkdd.

(h) 4588 b Irty SRPneE  Dabereds
ProBn NomATures damyon.

Reservairs and tanks suffer from siltation and
this effects -

(1) Land in hiily areas

12} Unecultivable waste lands

(3} Affarestation of catchment area of rivers
\ The ocean:

s Ralres, 3

95.

96.

97.

98.

Afforestation is essential for :

(1) Moderating ill effects of floods
avoidance of erosion of land

(2) Industrial progress

(3) Improvement of fallow land

(4) Improvement of barren iand

wo (Fod 28 esdigsd Do ?

(1) o880 B&% erared Sdoddo,
WO

(2) FOF°DE LS

(3) 0 dah efrans BEHHDISE

(4) 2ozd hrawe e@‘é&@

One very serious defect of the National policy for
rehabilitation is that it covers only :

{1) Displacement of landless labour

{2} Indirect displacement

and

R T,

"(3) Direct displacement

{(4) Displacement of people who are from tribal
region :

DdTFE DowoBoh = dabd  gedodt

Lo %o DS 7 200 oSt ©d S

(8D DothHowos ?

(1) 258 (TP &6 Jebo

(2) H8% oo Wedo -

(3) @é&é«gﬁb Seho

(4) ABed [roece [Daw Q“é Heno

According to Census 2011 data, what percentage

of Indian families do not have more than two

children ?

2011 WY Sgrodo wsedo, agd byo o

My Voere €U e Svwrw Jod TEo

Gy ? '

(1) 46% (2) 54% (3) 35% {4) 60%

In India, to prevent further soil erosion one of

the important measures we may resort tois:

(1) Allow free and uninterrupted use of water.

(2} Afforestation and pasture development
programmes in hilly areas.

(3) Encourage larger doses of fertilizers in
agriculture.

{4) Discourage use of ground water.

r88350¢® 1 drdo Lr¥do  wihdca®

&0B0%HE FE Bk oG a‘f.dg Qv ?

(1} D82 aDon, S¥osdon SUArACSE D8

(21 Tlimen, 2l 8 Soeate
&) = e e

2 dilge @EE)
(4} T ia e S0, F O R

e s

Series-AB
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01,

Any fand acqaisition law must essentially.ensure :

{1) The commercal interest of the investors -

and the government

{2) Development of industries, whatever may
bz the consequences

{3) That local bodies have ncthing to do with
the  formutation of the law and its
ansicmentation

{(2Y we'fare of farmers and other stake hoiders
on one hand and strategic development
ne -ds of the country on the other hand

V3G BB 0b ST B SNIVBT

S;‘cﬁbmi) ? _

(1) sy Darasro, vivad Joo0 Sodeg
AR SarERE.

(2) Lomrrad VEomEHose LOEve SIASNaN

. '

(3) & Sero Larls” nel, whed® M 28

VoPe E D & 08,

(4) g‘i‘»% Uberhe, ads dbabrve Voghed)
B30 (..u?“fjbgg odicud WY
= ESe.

The 'National Water Policy” adopted in April 2002
provides 2 framework for taking care of some of
whe following :
a. The quantity & quality aspects of water
b. Water outsourcing and development of tube wells
¢. Water development and management

¢. Environmental aspects of water
(002 .D"“cﬁf.‘?‘ GRPBOT el US tardad Dot
0" B0l ardSt $eTp g FeuTion ?

& -
w88 Dowodouh VO, T Qr_i [ETe At

EAPTAY

W

&y
A wPETEY, Taly erde

(g

a8 sRHYG, Daee,

(%]

d. 5658 Lowohovd :{50‘5‘:‘0659 ©SOFED.

} #b&¢c (2} b,c&d

Mo, d&a f4) d a&b

|he New Industrigi Licensing Peliry adopted by
india in 19561 suggested one of the following -

i2) Aboliticn of industrial licensing

{2) Increasing the role of pubiic cector

13! Tompulsory techrology transfer

A.l'l-A

(4} Strengthering small scaje

102.

103.

104,

The concept of multi-dimensional poverty Index
was introduced as a new measure of poverty in
the year :

o8 S8 s B i:d&s';);_ od ¥

B¢ rddorr O LobdySod’ wﬂ%’o@dﬁ“
(1) 2008 {2} 2009
{3} 2010 {4} 2014

If people of one country invest heavily in another
country and earn massive profits :

(1) This can be considered as economic
deveiopment in the home country

(2) This has nothing to do with economic
development in the home country

(3) This cannot be taken as
development in the home country

economic

{4) Outcome cannot be assessed

o8 8% [Lreo 2088 S vdKon Divwd 2

D068 wrores IBY

{1) AW d%oc® 6852 0D)B e LBedoSDy).

(2) 828 %edR asgs"éﬁ)‘bt)g&‘ JewHod Lowodo
e TelataSH

(3) &0 wdioct @G5 ER)g LOMoSe . -

(4) 20 woss SabEo.

The forces of liberalization and globalization i
our country have strengthened investment in

{1} ferward states much more than in backward
states

{2} backward states much more than in forward
states

{3} rural areas much more than in urban areas

{4} aneven manner ali over the country
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Social assistance schemes seek 1o provide

assistance to the poor and needy. They are :

(1) finked to the contributions made by the persons

(2} financed from the general revenue of the
gavernmeant

(2} financed through contribution by employee,
empioyer and the state

{4) financed through coniribution by employee
and employer

& . PN o o o sl
SEam02, sibothedy w05 Ielpeerd D0MNLE

(3) alghes, afgrGdde, ovgyo BT
o oo olhe.

{4) riaﬁsgriam, aﬁﬁgmﬁ“&;&.&to aﬁg Doryre
LouoH ORI

The liberalization phase in our country indicates that :

{1} We are not able to take advantage of the
young population bulge

(2} We are able to take advantage of the young
population buige

{3) wWelt worked strategies exist to ensure that
we benefit from the voung population bulge

{4} Goavernment has been ignorant that there is
a young population bulge that exists.

Loty Dot L8858 e &8 L DoDotnd 7

{1 wis dnbids Do DBne

(2} ©3E dpRdld oo Wb
(3 Uhndd OBl oL ol sREra

v

afium. G ([Lhdzo

Higher the share of workors Lo non-workers in

the population of & country implies that

{1y The smaller will be the surglus available for
invesiment

2% The larger will he ihe surplus available for
invastimant

i3] Surplus aveilabie

drastically

Surplus &

for twwestment may drop

Hauie i Investment may be

If the growth of working .age population is
greater than the growth rate of child population
in a country, it will lead to
{1} Higher dependency ratic
{2) Intermediate dependency ratio
{3) Low dependency ratio
fa) Non-dependency ratio
28 3%0&" FH aarer D)0 O od LIID
wabloy de meorer BB Str whfor ol eb
B8 @6 Spod ¥
{1} ob8 sordd Jnd (2) %::.:cégr‘:g w68 Jnd
{3) voyeordd N (4) orerdd Jnd
COne of the most challenging issue that India s
facing at present from among the following :
(1) How to compete with the most efficient
countries in the world ? .
(2) How to provide food security and basic
amenities to a large section of society ?
{2} How to increase employment in the
agriculture sectar ?
{4} How to strengthen the public sector ?
806 o0’ Phdo rdsdio XOT)otudy
wégoé (RPN ek 2088 7
{1 L}IJ‘&JO:ZSO&‘TGD B Jé:)g‘boéé)‘b s Jor
e Daed ?
(2) Vhrecd™ wof e o Fdsi,
adl wi&F Fr¥orgeis Jor Edfowrd 7
3] Bghdrod Solod o6l S SFom Vomd ?
4} [Dghdg Sonmdy LJur w&thdo Soied ?
ran econonty anen to-international trade, gross
vational prasuct may de greater or lesser than
gross domestic product depending upon :
‘1) The growth of the industrial sector
b The growth of the agricultural sector
} Tre net intlow or outflow of foreign income
4) The depreciation rate :
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Fur underdeveloped countries, economic growth may

be defined as a rate of expansion that moves an

underdeveioped country from a near subsistence to a:

{1} substantially higher level of living in the long run

(2} substantially higher level of living in the
shortest period

{3} substantially higher level of living without
reference to time

{4} substantially higher levei of living compared
to our neighbouring countries

Fobudh v 6533‘*5 vBé ‘é:g& 508 s Wi

Bt 28 Hosadh 8?“,1 &0 sErigray wod

:?Pcu:r‘é &y ?”“OE:":E Ssghod. © Jow JE) ?

1) égs"' :3«:3)5‘6?5 065 2% (e
Jrand é::»ggdo.

(2) }5‘303 sre0dt B‘by?dg 088 200 Dire
Jrowd Sr8gdo.

(3) sceod FeyBoae SHYEEH wos S
(Lhrm Frowd S3gde.

(4) wWhH TR s IOy 123;’_1;)355(5:{? wiE
b (Pdvee Frawd Fosgdo.

Which of the following are the main areas of

National Forest Policy, 1988 ?

a.  Protection of forests only

b. Exploitation of forests anly

c. Development of forests only

d. Conservation of forests only

erdab wed derko, 1988 <R DEvh oz
{206 ao8iS®) i ? '

B eddo Dodin brdd
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{1} &, b &conly 120 b, c&donly
{3} ¢ d&aonly {4y d, 2 & bonly

Which two of the fo! Iowmo are the main effects
of the destruction of foresis °
a.  Increasing the intensity of finod efiects
5. increasing the humidity of arr
. oincreasing temnerature
o F'rcrna'sma soli ey W» on

Which of the following are the major objectives

of sustainable development ?

a. Going for highly mechanised methods of
production

b. Protecting bio-diversity and balancing ecology
for long-term development

c. Offering ifarge amounts of subsidies for
industrial development

d. Enhancing standard of living of BPL families
and achieving inclusive growth

808 a8t Y oLD)8 b oy I

a. ebd dS:r"oLééc’:ca oo 483D iii)dgéo.

b. &8s e o8 %0 5 SIemgT SBosdo,
eswdn Dodhod Jfoddo.

C. POERE D)8 E‘;’qo wHE  deced’
VyGer adgdo:

d. o8|y S 8ok 6oy Hwowre N (D
Jowy Lov&o, a&):z@é 2B FQosdo.

(1) ca&bonlyfdmdd (2) ¢ & d only/dr($d

(3) a&conly/ar@d (4) b &donly/iEd

As per UNDP Report-2015, in India the highest
ranking state in Human Development Index is

{1} Maharashtra {21 Punjab

{3} Kerala {4}  ¥arnataka

UNDP 3388 2015 [hse8o ar888%0S” v
P éaﬂ)ﬁg@ Cogot) Gy 0URC T '

(1) Dfovip {2; Donret
(2) 8¢ (4)  doeink

Sustainable development refere to cne of the

following .

{11 btong lasting deveiopment without impaciing
environment negatively

(2] Econnmic decisions are taken forusing the
growth

{31 Economic decisions are tzken based on the
demand and supply forces

f4r GDP increases owing o increase 0 ganeral

- price ien




118.

119.

120.

203

Often afforestation programmes were not so
successful because of mainly one of the following :
(1) Poor quality of soil

{2} Poor quality of air

(3} Poor quality of water

4) Peoor quality of seeds
{ Y

Wi !--'x"\‘? T

-;nayign..’ &4L.4 u.-

(1) rZios

(2) &Sk &‘-casé SPooddo
(3) S8 aregd SR0TG0
(4) et dreagd CPhoBdo

in order to restore ecological balance, one of the
most important solutions from among the
following is

(1) Reforesting and extension of forest area

(2) Extensive use of available water

(3) Bring barren land under agricultural use

(4) Bring barren land under industrial use
whe Dodoad) Yoy P88 SHed3 wdgod
DB LB, Y g0 (808 ELF) 28 7

(1) edhud HuFboddo, bl |Froed)

SLbeddo.
(2] woteradt c,‘q a8 Fydon- oRatehiotdo.
(3) woud drtwed  Gghdeob. Derg 8
wdroont wedHdo.
(4] aced ddraiy ) rQpaesnd Glabels ardio.

Which of the foliowing statements is correct

regarding the VIli Five Year Plan document 7

{1} It appreciates the implementation of the
afforestation schemeas.

2% it dentifies some the

deficiencies of

afferestation schemes.
It ignares aspects related to afforestation.

It states that the afforestation is not a very
important concern for India.

;L‘-J,‘E?“@éé‘
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121.

122.

123.

124,

L

In india, intensity of land erosion has :

(1} reduced

{2) increased _

(3) hasremained at a low level

(4} has remained constant

wr38E%0E® oD Lt ol ¢

{1} &hea © 12} wBhos

(3) wealrord” ool (4) Iosdor Gob
Material resources like minerals, timber, fish,
water belong to one of the following :

{1) Provisioning category {2) Regulation category

(3) Cultural category  (4) Amenity category
weres, 0D, Thes, AH Hod tnd/eI 8% SdHhes
808 8¢t O S5538 080D 7

(1) Qeodde Do (2) Dodboge Do
(3) Sroiy)BE Do (4) eS8 D80

Trends in existing level of food grain productivity
in India indicates that they are :

(1) Just enough to take care of future demand
for food

{2) More than enough to take care of future
needs

{3} Not enough to take care of the future needs

4) -Cannot be assessed

JEDH sIE rargo Ser S Daboest
e DbyE 20 Eeoinebod ?

Sl et &iro&® LD AoSN® GENB

Gl
(2) 2igE eRilore® dod Cw..bé 2HihH0d.
(3} &é{,\:é Sore s OTAd oS Cséaa 2D,
(4) soda AT,

The loss through water erosion cannot be under-
estimated. The irrigation potential is decreasing
mainly because of one of the following :

{1} Siitation {2) Floods

(3) bO'fr‘wai\Jf‘ (4} Soil conservation
o 57 HYY) SEpS wods
Sabe >EE (B WY
Lo Gob. wodd Hu o
sridex <287

]
a
=1
i
wh
]
b3
[¥e]



125.

Development goals, may be defined in terms of
progressive reduction and eventual elimination
of some of the following :

a. Poverty, unemployment, inequality

social

b. Population, human

infrasiructure

development,

¢. Malnutrition, diseases;itiiteraty

d. Agriculture, employment, literacy

sol 23S S8 (Shom A, wodiorm
SemBomred eerdont w85 9h)8 wiatred
QoY ?

A WS8%o, DBE"NE, eDrddes

b, o, arhe e-sé;:bgg, ey wimgv:)}'o

¢ ISRyl S, 2850

d.  dgadrabo, a&’gNE, eLougd

(1) d&¢c {2) a&b

(3) c&a {4) b&d

Consider the following statements :

7. Capital output ratio indicates the number of
units of capital requn'ed to produce one unit
of output.

b.  Capital output ratio refers to productivity of
capital of different sectors at a definite
point of time.

¢ Along with national savings ratio, capital
output ratio can determine the growth rate
of national income.

d. The GNP growth rate is proportionately
related o capital output ratio.

Which of the above statements are correct ?

508 orgmged fidlodod.

a. ¥ grod ae eryferdy ENB SabarDd

e T wb: Vowgh
SrUER 6 3NE I8 3dabEhos
b. T o‘omr. fredhs

3

d.

127.

128.

Consider the following statements :

a. Economic growth is confined to small
portion of population.

b. in terms of use of capital and modern
technology, marginal disparities may exist
between developed and underdeveloped
countries.

c.  Economic disparities between developed

and underdeveloped countries have
increased,
d. There is wide spread poverty in

underdeveloped countries.

‘*’hich of the above statements are correct ?

208 as"gqaso{m Hvoolod

a. 2orS’ e 5)8 58 o3 e 8D
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Vo0,

b, wwreddo, wHdE  IoEs¥ DO IS
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(1) a,b&¢c 2
{3) c,d&a (4)

e
b &d

da&hb

Which of the following are related to ‘Hindu rate
of growth’ ?

a. Agricultural growth rate

b.  GOPgrowth rate

€. Average annual growth rate of about 3.5%
d

Gross capital formation growth rats
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129. Among the following, which are the major causes
of underdevelopment ?
i.  Poor per capita income
it. Capital deficiency
iii. Underutilized man power
resources )
iv. Traditional techniques of production
{1) iiandicnly
{2) i, iiandivonly
{3) i it diiand iv
{4) i, iii arid iv only
Berddard? 808 S8S° I REve st ?
i oror ééﬁsz #0208 sorabo
i haredd Bod
i, GrEd S, Lire DY vy &HAAd
iv. Darddfloorad a8y8 B’.)%Sf‘."om
(1) i bad i S
(2) i, i 0ok ivarEd
{3) i, ii, il obad iv
(4) i, il 0oty iv | ED

and natural

130. Amartya Sen received Nobel prize in economics
for his contribution to the

{1} International Economics

(2) Weifare Economics

(3) indian Economy .
{4) Industrial Economics

9‘&»95?&5 J  wdE woTud
uga"'{gjoé“ S8 wiohd Sroorth 7
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{2)
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(4)
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131. Human Development Index is caiculated

combining the per capita GDP plus expected

years of schooling plus

(1) Populaticn rate

(2} Child mortality rate

(3) Per capita food consumption

{4) Average life expectancy

LOD D)0 D8 Fedardd doll o
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132.

133.

134.

in developing countries, if the income level is
low, the propensity to consume will be high and
as a consequence, capital formation will be

(1) very high {2} marginally high

(3) low _ (4) constant

S DDy0 Toddity e’ sordd Frow Sy drr
o8 AP D)8 wgfomm Gowod. ol
Lo Lusedt Bean J Do sodnod 7

{2)
(4) ;QKSO

(1) orer wbBo0 Tdgon wb¥o

(3} weyo

Among the following, which one is an essential
characteristic of mixed economy ?

(1) Co-existence of capital goods and consumer
goods

Co-existence of labour and capital intensive

techniques

(2)
(3} Co-existence of urban and semi-urban areas
(4) Co-existence of public sector and private
sector

808 ordd® i w0 hebdH I8 wdghds
e¥mone godvod

(1) fwredd Sphes, GG DIHw SOV
& oddo.

R °0'Lc$€.‘é awredin Jro|ds ‘&ﬁééau £02
codpeod® oo,

{2)

(3) Leden, o - Do (drogre EE doddo.

(4) [oibde, E.joﬁdh Sonres X020 oo,

Trickle down effect’ refers to that economic

growth

{1) which brings. o tew benefits to the poor
seople

{2)

(3)

which needs to be controlled by the state
which needs delivery systems to bring
benefils to the rural poor

{4) which delivers benefits to the entire society
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137,

Il wzuings ratie is divided by the capital output
we derive

(1} GNP growth rate

{2} Per capita income growth rate

Population growth rate )

f- isable income growth rate

Sy T8 rudd ed)E a8 oead
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zoer D)8 O

The unemployment in underdeveloped countries
is mostly one of the following :

(1} Urban unemployment

(2) Disguised unemployment

{3) Open unemployment

{4} Educated unemployment

sindedd Gmadt &5‘5&& 208 Ssrwss® domr

Lol !

i1} Dge Z}tﬁ&‘gﬁé (2) @)ﬁgﬁlbdﬁ‘gﬂé
(- miedor Q& gNS (4) Da‘?gc&)éndﬁ‘sﬂé

Child sex ratio may be defined as ;

(1} The number of boys aged 0-4 years for

every 1,000 girls in the same age group.

The number of boys aged 0-6 years for

every 1,000 girls in the same age group.

The humber of girls aged 0-4 years for every

1,000 boys in the same age group.

14} The number of girls aged 0-6 years for every
1,000 hoys in the same age group.
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138.

139.

140.

. 141,

Consider the following pairs

a. Calendar year — January to December

b.  Financial year — April to March

¢.  Kharif season — October to September

d. Academic year — June to May

Which of the above pairs are correctly matched ?
808 udud KloPod.

3. $°8048 LoREYE0 - 2556 wo Eowb
b. 28 Joddyo - JE oD &by

¢ 285 svvo - u§wb wod Vowb

d. ;)crg Voddy8o - 2SS oD B

D adod® DU erebeorm Gamyap (VOtasD) ?

{1) a,b&c (2) b,c&d

(3} c,d&a (4) d,a&b

Which among the following are relevant to national

income ?

a.  Adding all transfer payments

b.  Adding all values of goods and services produced

c. Adding all payments made to all factors of
preduction

d.  Adding all incomes generated

808 &S avéois-mdﬁv:)l

Eolbodd woares IO ?

3. od) a8d oYL Fuiiso.

b. 4833 IVS o) Srbbe Desbed Eeldbo.
C. o) 68D soEsrub T 6d) Do Sixko.

mmgmﬁé’s

~d. D)RoBED o sorared Suddo.

(1) a,b&ec {2) b,c&d

(3) c,d&a (4) d,a&b

The National Income committee was constituted
by the Government of India in 1949. Who of the
following are its members ?

a. Professor P.C. Mahalanabis

b. Professor D.R. Gadgil

¢.  Dr.B.R. Ambedkar

d. Professor V.K.R.V. Rao

1949 &° aris [Lve;)ésoé vaoém&a e tlonrartey
28 &F 808 BT Dabges I ?

3. Il LY. DIUSHO

b. 9065 &.a6. rr'c}c'a’

c. G- Dwub @053653_5

d. wode D.3.08.2 oy

(1) ab&ec {2) b,c&d

(3) £d&a {4) d,a&b

The national income in india is calculated mainly
through which methods ?

8. Income method b. Output method

¢. Expenditure method d. Exchange method
wrBddgod” wé’éc&i:»cs*wul Dambor o Tgdn

orgor c;§a,§*d> ?
a.  woead ".\:,i’l

C. *é)gdb e d.
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(1} 2&b 12

{3} c&¢d 4



142.

143.

144,

145,

The share of secondary sector-in the GDP during
the period 1999-2000 to 2013-2014 has shown :
(1) Higher increase (2) Marginal increase
(3) Marginal decrease (4} Higher decrease
1999-2000 @013 2013-2014 2% e s*woc® re
3REB° Bgdas Sorf er St Jawhods Erdy
20706 7
(1) ¥ 28bde
(3) Pﬁé}“t&@ éf}ﬁ‘;& {4)
NNP for the current year x
Base year price index ~

Lond8y  Sdo

Current year price index ~

(1} Per capitaincome (2} Gross national product
{3} Realnetnational product (4} Real disposable income
B8 IEBSTT D88 rad@ENBY el
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VODEYEY S8 D OE Al I Hlpod ?
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(2)
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S8 wordbo
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(3) =08 D88 &“36&"&?‘3_{5 .

(4) QD8 Dgaded warabo _

Among the following statements on national

income, which cne is correct ?

National income mainly includes :

(1) Rent, taxes, pensions and subsidies

{2) Public sector expenditure, elections
expenditure and judicial expenditure

{3} Rent, wages, interest and profits

(4)

Double counting, transfer payments, debts
and imports

@ 8afrarato o 508 LEdned® D6 VIRE
(1) r8aprerabod® wges, Ude, Do,

WBYEes o dodrar.
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c; A
Biftées erdabroedbod® a..w‘iom Soiran,

According to  Ragicr  idurkse, most  of the
underdeveloped couitiries have been caught in the
(1) Vicious circle of poverty

{2} Excessive demand

(3} Productive investment

(4) Export of secondary se C*ﬂr Dr odm,s
“”'“‘1\. ”\:C) : g

146.

147.

148.

143.

Among the foliowing five year plans, the highest
annual average growth rate of per capita income
at 1999-2000 prices was achieved during the :

(1) Eleventh Plan {2) Eighth Plan

{3} Seventh Pian {4) Ninth Plan

k..,r‘r?éc.«.' 1999-2000 uoée.gdﬁg)
Borad 20es0b DX ‘é)\.é Sen D

ey

- }
(3) 7% ey (4)

Among the following organizations, which one
estimates the national income in independent India ?
(1) NIT! Aayog

{2) Planning Commission

(3) Finance Commission

(4) Central Statistical Organisation
rgdojerghodd  rdSiod’  erdatrarardy

- w0 FHd) VoD (308 eST) 26 ?

(1) & aarh (2) (23 05e Lodo
(3) & Lolvo () Sobab tee 0% 0

in which of the following kind of taxes, the tax
rate increases as income increases :

a. Proportional Tax b. Progressive Tax

c. Regressive Tax d. Highly Progressive Tax
(1} aandb {2) bandc

{3) candd (4} bandd

&1 Bod J BEID Dot sordbo OB

Y Ben webrveHod ?

. SpBEL® b QD bEy

C. 88D iy d. 008 PE D By
(1) aZoubaivh 12) bawbBabc

{3} cdchd 4} bodabd

By deducting growth rate of population from
growin «nte of natinnal income, we derive :

{1} Growth raie of per capita income

{2} Growinh rate of real income

{3) Growih rale of disposable income

(8) Growth rate of NNP
28 Sin o waver H)0 S

zr Babeerchd
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space provided for that purpose in the
Cuestion Paper Booklet No loose sheet of
paper will be allowed into the Examination

hail

. Do not mark answer choices on the Question

Boorlet. Viclation of this will be viewed

ceriotisiv.

in case of any discrepancy between English
sro Telugu Versions of the guestions, fngiish

he
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The script will not be valued if the
. candidate :
(i) Writes the Hall Ticket No. in any other

The candidate should write the Question
Paper Booklet No., Booklet Series & OMR
Answer Sheet No. and Sign in the space
provided in the Nominal Rolls while
ensuring the Bio-data printed against
his/her name is correct.

No candidate should leave the examination
hall until completion of examination time.

Before leaving the examination hall, the
candidate should handover the original
OMR Answer .Sheet {top sheet) to the
Invigilator and carry the bottom sheet of
OMR (duplicate} for his/her record, failing
which action will be taken for malpractice.

Candidates are permitted to take away the
Question Paper with them after completion
of the exam. '

place of OMR sheet, except in the
space provided for the purpose.

Writes irrelevant matter, including the
religious symbols, words, prayers or
any communication whatsoever, in any
- place of the OMR Answer Sheet.
Uses other than Blue/Black Ball Point
Pen to darken the circles.

Forgetting to bubble the Test Booklet
series or bubbling the other Test
Booklet Series code than supplied to
nim/her.

Bubbling the circles incompletely or
using  or x in the circles.

(ii)

(ifi)

(iv)

(v)

Using of whitener on the Answer

Sheet,

{vii)if attempts any type of tampering
- {rubbing the circies with chalk powder/

scratching the circies with razors etc}

con the OMR Answer Sheet.

(vi)

{vili) Adeopts any method of malpractice.
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